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ROEBRIZDNT, +DEERDES L,

D 3:4=x:12 @ 2:5=6:x

@ 1:3=(x—2):9 @ 4:11=8:(x+9)

® (2x+3):30=7:6 ® 16:(3x—1)=4:5

@ (x—2):(x—1)=1:2 3:1=(x+10):(x+38)

@ (—2x+4):4=2x+17):2 3:(4x—1)=27:(32x+3)
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(1] &Z
D x=9 @ x=15 ® x=5 @ x=13 ® x=16
® x=7 @ x=3 x=-="7 ©® x=-5 x=3
fig g
ab=c:dDtE, ad=bchEY3iLo,
D 3:d4=x:12&Y,
3x12=4x 4x=36 x=9

@ 2:5=6:2&Y,

2x=5%X6 2x=30 x=15
@ 1:3=(x—2):9& VY,

1x9=3x—2) 9=3x—6 —-3x=-15 x=5
@ 4:11=8:(x+9 &Y,

4x+9)=11%x8 4x+36=88 4x=52 x=13
® (2x+3):30=7:6&Y,

2x4+3)x6=30x7 12x+18=210 12x=192 x=16
® 16:(3x—1)=4:5&k Y,

16xX5=3x—1)x4 80=12x—4 —12x=-84 «x=7
@D (x— )( l)=1:2&Y,

(x—2)X2=(x—1)x1 2x—4=x—1 x=3
3.1_(x—|—10).(x+8) Y,

Jx+8=1%X(x+10) 3x+24=x+10 2x=—-14 x=-7
© (—2x+4):4=02x+17):2& Y,

(—2x+4)x2=4%X(2x+17) —4x+8=8x+68 —12x=60 x=-5
3:(4x—1)=27:(322 +3) & Y,

)

332x+3)=(4x—1)%x27 96x+9=108x—27 —12x=—-36 «x=3



